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Derivadas  
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2.-Calcula las siguientes derivadas: 

51) ( )f x x=  
5 4

1
(́ )

5
f x

x
=  

  

22) ( ) 6 3 8f x x x= − +  (́ ) 12 3f x x= −    

1
3) ( )f x

x
=  

1
(́ )

2
f x

x x

−=  
  

3
4) ( )

1

x
f x

x
=

+
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3
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( 1)
f x

x
=

+
 

  

55) ( ) (6 4)f x x x= +  
5

4 6 4
(́ ) 30

2

x
f x x x

x

+= +  
  

1
6) ( )f x

x
=  

2

1
(́ )f x

x

−=  
  

4

1
7) ( ) 8f x

x
=  

5

32
(́ )f x

x

−=  
  

8) ( ) xf x e tgx=  
2

(́ )
cos

x
x e

f x e tgx
x

= ⋅ +  
  

9) ( ) cosxf x e senx x=  
2 2(́ ) cos cosx x xf x e senx x e x e sen x= ⋅ ⋅ + −

 

  

10) ( ) cosxf x e senx x= ⋅  
2 2(́ ) cos cosx x xf x e senx x e x e sen x= ⋅ + −

 

  

11) ( ) lnxf x xe x=  (́ ) ln lnx x xf x e x xe x e= + +    

12) ( ) cosf x senx x= ⋅  2 2(́ ) cosf x x sen x= −    

13) ( ) cosx xf x e senx e x= −
 

´( ) 2 xf x e senx=    

14) ( )
3ln

xe
f x

x
=  

2

1
ln

(́ )
3ln

xe x
x

f x
x

 − 
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1
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x
= −  
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1 1
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x x
= +  
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x
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e
=  

1
ln

´( )
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x
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17) ( ) 4 lnf x x=  4
(́ )f x

x
=  

  

18) ( ) lnf x x x=  (́ ) ln 1f x x= +    

3 2

2

3 6 1
19) ( )

3

x x
f x

x

− +=
+

 

4 2

2 2

3 27 38
(́ )

( 3)

x x x
f x

x

+ −=
+

 
  

20) ( ) 8 lnf x tgx x= +  
2

8 1
(́ )

cos
f x

x x
= +  

  

321) ( ) 5 lnf x x x=  
2 2(́ ) 15 ln 5f x x x x= +    

722) ( ) 7 7f x = −  
7 6

1
(́ )f x

x
= −  
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223) ( ) ( 2 )f x sen x x= +  
2(́ ) (2 2)cos( 2 )f x x x x= + +    

24) ( ) ( 1)f x sen x= +  ´( ) cos( 1)f x x= +    

 

25) ( ) cos4f x x=  (́ ) 4 4f x sen x= −  

2 726) ( ) (3 6)f x x= +  
2 6´( ) 7(3 6) 6f x x x= + ⋅  

4 527) ( ) xf x e +=  
4 5(́ ) 4 xf x e +=  

228) ( ) lnf x x=  
2

1 2
(́ ) 2f x x

x x
= ⋅ =  

( )29) ( ) lnf x x=  1
(́ )

2
f x

x
=  

230) (4 5)tg x +  
2 2

8
(́ )

cos (4 5)

x
f x

x
=

+
 

31) ( ) ln( )f x senx=  cos
´( )

x
f x

senx
=  

532) ( ) cosf x x=  
4 4(́ ) 5cos ( ) 5cosf x x senx xsenx= ⋅ − = −  
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2
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x
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+=
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f x

x x
=  
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2
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2
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2

2
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2
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=
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2 2

2
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2
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2
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x
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+ −
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+
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1
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1
39) ( ) ln

1

x
f x

x

 +=   − 
 2
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(́ )

1
f x

x

−=
−

 

( )240) ( ) ln 4 6f x x x= −
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